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Settlements for Netted Energy

ERCOT, Settlements and Billing

February 7, 2006 TPTF Meeting
Assumptions

1.
For existing net metering configurations, ERCOT continues to use the current methodology to allocate net generation to each generator.
2.
Settlement meters have been installed on Electrical Buses to measure gross generation, net generation, import, export, and/or load. The LMP may be different during Real Time at the Electrical Buses where the meters are located.
List of Variables

	m
	Settlement meter, which measures gross generation, net generation, or load

	e
	Gross generation, net generation, or load: a positive value represents generation and a negative one represents load

	r
	Generation Resource

	g
	deemed generation of a Generation Resource

	g’
	generation of a Generation Resource adjusted for netting

	l
	net total load

	b
	Electrical Bus

	p
	energy price

	k
	payment adjustment factor for each Generation Resource

	z
	Load Zone


Settlement for Net Load

Net load condition

1.
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Net load settlement

The net load will be charged of the Load Zone Settlement Point Price.
Settlement for Net Generation

Net generation condition
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Net payment to all Generation Resources
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Option 1 – Payment adjustment factor for all Generation Resources
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Option 2 – Adjusted price for all Generation Resources
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Conclusions

1.
If the netting results in “load”, the charge to the load will be calculated based on the Load Zone Settlement Point Price.

2.
If the netting results in “generation”, the total of the payments to the Generation Resources will equal the net total of the payments/charges based on the LMP at the corresponding Electrical Buses.
Under Option 1, 
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Under Option 2, 
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Examples

In this section, three examples are provided to illustrate the proposals for the net metering settlements. For each example, the settlement is presented under both options.
Example 1
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The net payment is
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Assume that
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(This assumption is made to keep the presentation easier to follow.) 
Then the generation for each Generation Resource adjusted for netting is
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Option 1

The payment adjustment factor is
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The final payments to G1 through G6 are
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Option 2

The adjusted price for al the Generation Resources is
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The final payments to G1 through G6 are
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Without Adjustment to Payment or Price

The final payments to G1 through G6 are



[image: image23.wmf]($)

250

25

10

3

2

1

=

×

=

=

=

G

G

G

Payment

Payment

Payment




[image: image24.wmf]($)

300

25

12

6

5

4

=

×

=

=

=

G

G

G

Payment

Payment

Payment


The total of the payments is
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Example 2
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Given that
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The net payment is
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The generation of G1 adjusted for netting is
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Option 1

The payment adjustment factor is
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The final payment to G1 is
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Option 2
The adjusted price is
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The final payment to G1 is
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The final payment to G1 is
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The total payment is
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Example 3
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Given that
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The net payment is
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Assume that
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(This assumption is made to keep the presentation easier to follow.)

Then the generation for each Generation Resource adjusted for netting is
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Option 1

The payment adjustment factor is
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The final payments to G1 and G2 are
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Option 2
The adjusted price is
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The final payment to G1 is
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Without Adjustment to Payment or Price

The final payments to G1 and G2 are
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The total of the payments is
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